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Answer Sheet (OAS).

1. Express six million, forty thousand, one hundred and one in numerals.

(1) 6040011
(2) 6040 101
(3) 6400011

(4) 6400110

1
2. Whichnfﬂleﬁlﬂmﬁngﬁacﬁunsischseﬂtug?

1
(1)

{2)
(3)

(4)

~th it @M N

3. Which one of the following is the most likely height of a dining table?

(1) 72m
(2) 72m
(3) 72aom
(4) 7.2cm

4. Findthevalseof 7p + 8- 4p 2+ 3whenp=4.

(DI ¥
(2) Z3
{3) 33

4 a9



In the figure below, AC Is a straight line. Find Za.

(1) 45°
(2) 55°
(3) 8o°
(4) 170°

The jug below shows the amount of appie juice in a jug at first.

T

Alice drank half the amount of apple juice. How much apple juice did Alice drink?

(1) 350 m¢
(2) 490 mi
(3) 700m¢
(4) 980mi



Darus watched a movie that lasted 125 minutes. The movie ended at 12 35,
What time did the movie starl?

(1) 1930
(2) 1040
(3 1110
(4) 1010

in the figure below, AGD and CGF are siraight lines. ZBGA = 48° and
Z8GC = 58" Find A«

EL\ i
55°
@D
A e D
F £
(1) 1G6*
“(2) 18°
(3 3
(4 =



9. In the figure below, ABCD is a square with length of 30 cm and 8 identical
quartar circles. Find the total ares of the unshaded patiis.

Take n=3.14.

30cm

(1) 272 cm?
{2) 586 cm?
£3) T74.4 cm?

{4) 8372cm*

10, The first 14 numbers of a number pattem are given below.
9.1.0_2‘9.1.0,2 9.1.0.2'9.1.
1= 14™

What is the 793" number?

(1 1
2 2
3) 0

4 9

LA



11. At a camp, there was 4 instructors for every 15 chi ren. The number of girls

1
was — the total number of children. There were 100 more boys than girls.
3

How many instructors were there at the camp?

(1) 20
(2} 80

(3) 300
(4y 400

12, The graph below shows the number of boxes of biscuits collected during a
food donation drive. The number of boxes collected on Friday was 25% of the
total number of boxes collected from Monday to Wednesday.

How many boxes of biscuits were collected on Fniday?

I~ - a RE I A P
. f ST L S Y N e

(1) so
(2) ©¢
(3 250
(4) 300



13, The line graph below shows the increase in & newly hatched chick's mass in

its firsi 12 months. in which tiﬂ:@?&ﬁﬁd did the mass of the chick ir- rease the

least?
2000
1500 ‘,f’
il
i
“’P“'_
Mass of .00 =
chick {g) o
o
7
),,-/
0

Months

(1)  Monith O to Month 2
(2)  Month 4 to Month 6
(3) Month 6 to Month 8

(4) Month 10 to Month 12

12



In the figure below, CED and CFD are izosceles iriangles. AFC and BFD are

14
straight lines. # FCE = ZFDE = 38°. ZBFA =68°. Find 2 CED.
=
(1) 108°
2y MNzr
{3) 136°
(4) 140°
15. Dauren spent-20%r of his money cn a plate of noodies. He used the rest of his

money to buy a pizza and a roast duck. The pizza cost $18 more than the
noodles. The roast duck cost 551. Find the cost of the pizza.

(1) %23
(2) $ai
(3) $69

(4) 874
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Questions 16 to 20 carry 1 mark each. Wrile your arEwers in the spaces provided. Give

your answers io the unils stated and v its simplest form witenever necessary. (5 marks)

16.  Use all the digits 3, 5, 6, and 0 to Torn the number closest to 8000.

17. Express 0.4% as a fraction.

Armswes

2
: - g 2 .. .
8= Ammmgmmm,mmmmnmEmmam-

w2



19.  In the figure below, ABC is a straight line. #ABD = 152° and # CBE = 124°.
Find £ EBD.

B

124°

Answer

20. The figure below shows 4 idenlicai quarter circles. The radius of esch quarier

2
cwcle is 14 cm. Find the perimeler of the figure. Take u:—'——?-‘

1dcm




Questions 21 lo 30 carry 2 marks each. Show all mathematical slatements clearly in the
space below each question and write your answers in the spaces provided. Give your
answers lo the units slated and lo its simplest ‘orm whenever necessary. (20 marks)

Kayden completed his Mathematics, Science and Art homework in y hours.

21.
He took the same amount of iime to complete his Mathematics and Science
homework. He fock 10 minutes longer to complete his Art hemework than
mathematics. How many minutes did he take to complete his Mathematics
homework?
Answer: min
22.  There are two 2-digit numbers. One is 6 timas the cther. They have exactly five

cammon factors. “hree of the coemmen f2ciors ars 1. 2 and 4. \What a~e the two

2-Cigil numbers?

I



23.  The figure shows a rectangular glass tank partly filled with 2-cm cubes.
Jane poured waler inlo the tank to fill it to the brim. How many millilitres of waler
did Jane pour into the tank?

LTSy LY




24, The figure below shows a right-angled triangle and 2 quarter circles. Find the
area of the figure. Express your answer in lerms of =

10cm

Answer: om?

25.  Julian and Mandy sharad 50 shells equally. After Julian gave some shells to
Mandy. the ratio of Julian's shells to Mandy's sheils was 3 : 7. How many shells
did Julian give to Mandy?

ATSWET




26.  The bar graph shows the number of books borrowed from the fibrary from
Monday to Friday.

(a)

(b)

Mon Tue Wed Thu Fri

What fraction of the books bonowed from the library was on Friday?

The average number of books bormmowed on Thursday and Friday was 20
less than the average number of books bomowed on Saturday and
Sunday. Write down one possible sel of values for the number of books
bomrowed on Saturday and Sunday

Arswer (a)

(b}

e |



27.

The table below shows the rate of parking charges in a carpark.

Parking Charges

First hour

$2.20

E'l.fEI'},FEUbSE[]uEﬂt—; an hour or part thereof

$0.80

Ezch of the statements below is either frue, faise or not possitle to tell from the
information given abave. For each statement, put a fick {(¥) fo indicate your

aNiSWET.

Statement

Trus

False

Mot possible
o teil

(2} | Nurul parked her car in the carpark from
2.40 p.m. o T p.m. and paid $7_80.

(b) | Mr Tan paid exactly $9.40. He parked

1
hiscarhmemmkﬁ:rﬁih

]




28. Kenneth and Charmaine shared a sum of money. The amount of moaey

1 ; | -
% harmaine had was 5 Of wial Kenneth had. After Kenneth spent. of his

money, he still had $85 more than Charmaine.
What was the sum of money at first?

Answer: $

—



30.

G
4 numbers are displayed in a row.
average of the 2nd and 3rd number is 9 and the average of the 3rd and 4th

number is 12, Find the average of the 1st and 4th number.

The average of the first two numbers is 8, the

? ¥ ” 2
1st 2nd 3rd 4th
Answer
End of Paper 1

10
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Questions 1 to § camy 2 marks each. Show your mathematical statements
clearly in the space provided for each question and write your answers in the
spaces provided, Give your answers fo ihe units stated and to its simplest form
whenever necessary. (10 marks)

1
2 A box contains red, blue and gréen highlighters. 3 of them are red

"
highlighters. 2 of the remainder are blue highlighters and the rest are
green highlighters. There are 273 green highlighters.

What is the total number of highlighters in the hox?

|+



The table bejow 5'hnws the amount of coifee powder sold in a certain
week. -

Day Amount of coffee powder sold _|
Monday 1kg200g N
Tuesday ?
Wednesday - ?
Thursday ¥
FI'HEH" 1070 g
Saturday 0.95 kg
Sunday ?
Total 8kgBg

The total amount of coffee powder sold for the week was 8 kg 8 g.

The amount of coffee powder sold on Tuesday and Thursday is the same.
The amount of coffee powder sold on Wednesday is twice that on
Thursday. The amount of coffee powder sold on Sunday is half that on
Tuesday. What is the amount of coffee powder sold on Sunday?

L



The ratio of Derek's age io his father's age is 1: 3 now.
in 5 years' fime, the ratio of Derek’s age to his father's age willbe 2 ; 5.

What is his father's age now?

Answer:

4. The table below shows the number of children and adults who ate at 4
restauranis. Each restaurant charged $12 for a child buffet and $22 for

an adult buiffet
I Resiaurant Number of children MNumber of adults
i W 12 20
JIl X ! 18 17
| Y ‘ 14 15
" F : 13 5 19

{a2) Which of the 4 restaurants collected the most money?
(b) What was the average amount of money collected from the 4

restaurants?

SR )

i



in the figure below, QRST is 2 sguara and PQT is an r;;uﬂateml triangle,
Find -RPT

P

o =




For questions 6 to 17, show your steps dearly in the space provided for each
question and write your answers in the spaces provided.

For questions which require units, give your answers in the units siated.

The number of marks available is shown in brackets [ ] at the end of each
question or part-guestion. (45 marks) E

6.  The figure below is made up of two Identical semicircles and 4 identical

fght-angled frnangles. The perimeter of each right-angled triangle is
36 cm The diameter of each semicircle is 48 cm. Find the perimeter of
ina shaded part. Take z = 3.14.

==
-
~
-
-

e

e
3
&

1h
sk

]
4




A cubical tank of edge 12 cm was partially filled with water. After
another 432 cm? of water was pourad in, the container was completely

filled, What was the height of the water level at first?

=]



A grocer bought 50 boxes of oranges. Each box coniained 72 oranges.
He packed all the oranges equally into bags. There ware k oranges in
each bag and he sold 320 bags.
(a) How many bags of oranges did he have lefl?

Express your answer in terms of k in the simplest form.
(b) The grocer sold the remaining bags of oranges al $6 each,

If k = 9, how much did he collect from seiling the remaining bags?

Answer: (3)

D)

[2]

i1



P
9.  Arectangular piece of paper ABCD is folded to furm the figure below.

Find<2




10.

Elon and Mark shared a box of coins in tha ratio 8 : 5. After Elon spant
51 eoins and Mark bought another 42 coins, they had an equal number
of coins. How many coins were there in the box at first?

14



i1

In 2019, th= average number of boys in an enrichment class was 28.

In 2020, & hew enrichment classes of 37 boys each wers added fo the
school. The average number of boys in all the classes increased o 33.
Find ihe total number of boys enrolied in the school jor the year-2020.

1



12.  The figure below, is made up of 3 identical circles. The radius of each

y ) - 22
circle is 14 cm. Take o= "5'.

(a) Find the perimeter of the shaded figure.
(b) Find the total area of the shaded parts.

Answer, (a3} 1

i €l




13. At first, the amount of money Bryant had was66% the amount ot
money Michael had. They went for lunch together and Bryant paici for
25%of the bill and Michael paid for the rest. After paying for the iunch,
Bryant had $56 left and Michae! had-25% of his money Isft.

How much did they pay for lunch?

Answer. (4

I3



14.

1
The cost of 2 coolde was Eﬂ'lemstcfa sandwich and a muffin cost

4
twice that of a sandwich. Mr Lee spent ;ufhis money on 16 cookies

4
and 12 sandwiches. He usad Eﬂfhis mmjairﬁng money fo buy 5
muffins and more sandwiches. -

(@)  How many more cookies can Mr Lee buy with the resi of his
money?
(0)  How many sandwiches did Mr Lee buy in all?

Answer {a) n

®) M)

14



_

15.  Inthefigure below, AEFH is a paralieiogram and ABD is an isasceles

triangle. ACH and BCDE are siraight lines. AB = AD. ZACD = 95°,
£DAE = 32° and ZAHG = 128
(a) Find ZAED.
(b) Find ZBAC.
A

32°

95°

128°

F
Amseer (a) 2l
(b) 21




16.

=
On Saturday, a shop sold identical jerseys at $39 each. On Sunday,
the price of the jersey was reduced. As a resuit, the number of jerseys
sold increased by8% and the amuw..mt of money coilecied increased
by-25%. =
(&)  Find the price of a jersey sold on Sunday.
(b)  Find the percentage decrease in the price of a jarsey sold on

Sunday.

Answer {a)

(2]

| L]



17

Ajsha had some twenty-cent coins and fifty-cent coins.

The numher of fifty-cen{ coins was g ine total number of coins.
Afier Aisha exchanged 20 fifty-cent coins for twenty-ceni coins, the
number of lwenty-cent coins and fifty-cent coins became the same.
() What was the total value of all the coins at first?

{b} What was the total number of coins Aisha had at the end?

Answer: (a)

) _

End of Paper 2
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